

A Service of



Leibniz-Informationszentrum Wirtschaft Leibniz Information Centre

Boll, Christina; Leppin, Julian Sebastian

Working Paper

Equal matches are only half the story: Why German female graduates earn 27 % less than males

HWWI Research Paper, No. 138

Provided in Cooperation with:

Hamburg Institute of International Economics (HWWI)

Suggested Citation: Boll, Christina; Leppin, Julian Sebastian (2013): Equal matches are only half the story: Why German female graduates earn 27 % less than males, HWWI Research Paper, No. 138, Hamburgisches WeltWirtschaftsInstitut (HWWI), Hamburg

This Version is available at: https://hdl.handle.net/10419/69623

Standard-Nutzungsbedingungen:

Die Dokumente auf EconStor dürfen zu eigenen wissenschaftlichen Zwecken und zum Privatgebrauch gespeichert und kopiert werden.

Sie dürfen die Dokumente nicht für öffentliche oder kommerzielle Zwecke vervielfältigen, öffentlich ausstellen, öffentlich zugänglich machen, vertreiben oder anderweitig nutzen.

Sofern die Verfasser die Dokumente unter Open-Content-Lizenzen (insbesondere CC-Lizenzen) zur Verfügung gestellt haben sollten, gelten abweichend von diesen Nutzungsbedingungen die in der dort genannten Lizenz gewährten Nutzungsrechte.

Terms of use:

Documents in EconStor may be saved and copied for your personal and scholarly purposes.

You are not to copy documents for public or commercial purposes, to exhibit the documents publicly, to make them publicly available on the internet, or to distribute or otherwise use the documents in public.

If the documents have been made available under an Open Content Licence (especially Creative Commons Licences), you may exercise further usage rights as specified in the indicated licence.





Equal matches are only half the story. Why German female graduates earn 27 % less than males

Christina Boll, Julian Sebastian Leppin

HWWI Research
Paper 138

Corresponding author:

Dr. Christina Boll
Hamburg Institute of International Economics (HWWI)
Heimhuder Str. 71 | 20148 Hamburg | Germany
Phone: +49 (0)40 34 05 76 - 668 | Fax: +49 (0)40 34 05 76 - 776
boll@hwwi.org

HWWI Research Paper
Hamburg Institute of International Economics (HWWI)
Heimhuder Str. 71 | 20148 Hamburg | Germany
Phone: +49 (0)40 34 05 76 - 0 | Fax: +49 (0)40 34 05 76 - 776
info@hwwi.org | www.hwwi.org
ISSN 1861-504X

Editorial Board: Prof. Dr. Thomas Straubhaar (Chair) Prof. Dr. Michael Bräuninger

© Hamburg Institute of International Economics (HWWI) January 2013

All rights reserved. No part of this publication may be reproduced, stored in a retrieval system, or transmitted in any form or by any means (electronic, mechanical, photocopying, recording or otherwise) without the prior written permission of the publisher.

Equal matches are only half the story. Why German female graduates earn 27 % less than males

Abstract

Germany's occupational and sectoral change towards a knowledge-based economy calls for high returns on education. Nevertheless, female graduates are paid much less than their male counterparts. We find an overall unadjusted gender pay gap among German graduates of 27 %. This corresponds to an approximate wage gap of 32.5 % thereof 20,3 % account for different endowments and 12,2 % for different remunerations of characteristics. Suboptimal job matches of females tied in family and partner contexts are supposed to account for at least part of the gendered wage drift. But overeducation does not matter in this regard. Instead, females earn 4 % less because they work on jobs with fewer years of required education. Furthermore, solely males are granted breadwinner wage premiums and only men successfully avoid wage cuts when reducing working hours. We conclude that the price effect of the gap reflects employers' attributions of gender stereotypes, gendered work attitudes as well as noticeable unobserved heterogeneity within and between sexes.

JEL-Classification: J31; C33; J710

Acknowledgements

This study is part of a research project funded by the German Ministry of Family Affairs, Senior Citizens, Women and Youth (BMFSFJ).¹ We thank Klaus Schömann, Uwe Jensen and Nora Reich for helpful comments. The full content of the study, any omissions and views expressed therein are in the sole responsibility of the authors.

Corresponding author:

Christina Boll

Hamburg Institute of International Economics (HWWI)

Heimhuder Str. 71

20148 Hamburg, Germany

Email: boll@hwwi.org

1

¹Concomitantly, on behalf and for attention of BMFSFJ, a comprehensive report has been carried out in German language.

1 | Introduction

After 2020 the replacement need of German academics will increase markedly due to the retirement of baby-boom generations (Helmrich et al. 2012). The situation is aggravated by newly generated needs by means of the ongoing economic and occupational change. Admittedly, higher educational aspirations together with a higher employment inclination of women and elderly actually help to balance demand and supply on the graduates' labour market. But with younger cohorts being too small to capture the overall need conditional on demographic and structural development the skill gap is foreseeable (Bundesagentur für Arbeit 2012). To avoid future skilled labour shortages it will become more and more important to have an eye to the full exploitation of resources in terms of a productive use of acquired qualifications in proper job matches. Apparently, overeducation is adverse to this aim. Overeducation occurs if a person attained a higher level of education than is required to perform his or her actual job. That is, overeducation refers to overschooling as a vertical inadequance.²

Various theoretical frameworks deal with the phenomenon of overeducation and its earnings consequences (for an overview see Büchel 2001). Search theories (Stigler 1961, Mortensen 1987) postulate that overeducation may temporarily arise due to labour market frictions in the context of incomplete information. Search costs hinder proper matches only in the short term, but as long as the mismatch subsists it goes along with diminished returns on education. Career mobility theory (Sicherman and Galor 1990) as well considers overeducation to be of limited duration, even though differently motivated: According to career mobility theory, overeducation in the early career stage and associated earnings losses are individually rational from a life course perspective since the mismatch spell entails outstanding upward income mobility later in the career (see e. g. Dekker et al. 2002 for confirming results in internal labour markets). However, other findings do not support this theory: Overeducation is found to be highly path dependent (Andersson Joona et al. 2012, Nielsen 2011, Korpi and Tåhlin 2009, Büchel and Pollmann-Schult 2002), and, contrary to the theory, overeducated persons tend to have lower promotion prospects (Büchel and Mertens 2000). Furthermore, overeducation may arise in the context of labour market distortions. Job competition theory (Thurow 1975) predicts that an excess supply of graduates on the labour market causes persisting overeducation of graduates whereas lower educated persons become unemployed. The privileging of graduates has its origins in lower training costs for employers. Following this theory, excess education yields zero returns since wages are determined by the demand side exclusively. The same conclusion is drawn from assignment theory (Tinbergen 1956, Sattinger 1975; 1993): Assuming job requirements being more heterogeneous than educational degrees and production technologies not being capable to adapt to supplied qualifications, wages are determined solely by job requirements, irrespective of market balance.

-

²By contrast, overskilling may be interpreted as horizontal inadequacy in terms of a partial non-use of attained occupational skills in the actual job (Quintini 2011).

By contrast, human capital theory (Ben Porath 1967), commonly specified in a Mincerian wage equation (Mincer 1974), postulates that wages are exclusively determined by supplied human capital. The latter comprises schooling investment as well as job-specific skills gained by training-on-the-job. The focus on attained education grounds on Say's theorem that each unit of supplied human capital generates its own market demand and is therefore equally remunerated. Human capital theory as well as signaling theory (Spence 1973) rely on the assumption that attained education reflects productivity since productivity is the output or the pre-condition of human capital investments, respectively. Both theories predict equal returns on each unit of human capital, irrespective of demand side requirements. As income estimators hardly manage to fully control for unobserved heterogeneity, human capital theory may not be rejected easily.

Few theories account for linked lives in the context of labour market performance. One exception is the theory of differential overeducation (Frank 1978). According to this theory, job mismatch is regarded as an outcome of union decisions of couples. Partners may prioritise the male partner's job match quality due to different income capacity of partners and/or traditional gender roles. In this case, female partners behave like "tied movers" and "tied stayers" on the labour market (Mincer 1978). Frank postulates that this behavior is the more likely if partners are married. Büchel and Battu (2002) find partial support for the theory with German Socio-Economic Panel data (GSOEP), concluding that higher commuting distances may reduce female partners' risk of being overeducated.

Approaches how to measure overeducation are almost as manifold as those explaining it. Self-assessed educational (mis-)match by surveyed persons is a very common measurement method not only in the German but also in the international empirical literature (e. g. Rukwid 2012, McGuinness and Bennett 2007, Vahey 2000, Büchel 1996, Sicherman 1991, Duncan and Hoffman 1981). Like most micro data sets, the GSOEP raw data contain information on the self-assessed educational level that is necessary to perform the actual job. The subjective method is appealing due to its simple application and because, from a theoretical point of view, a survey person's knowledge is closest to his or her individual job requirements. However, it is its core property of being subjective that prevents the method from being appropriate to deal with wage effects of overeducation. Empirical evidence suggests that self-assessed overeducation is subject to other job features like occupational status and particularly income (Dolton and Vignoles 2000). Survey persons may be inclined to exaggerate educational requirements of their job for various reasons (Borghans and de Grip 2000). Furthermore, self-assessed overeducation exhibits a severe gender bias (Leuven and Oosterbeek 2011, Boll and Leppin forthcoming).

-

³ Empirical analyses of United States' microdata show that estimation results of the ORU model are qualitatively independent from the chosen measurement method. In detail, results do not change substantially if one switches from a Realized Matches approach to a measurement method that relies upon subjective self-assessment of overeducation (Chiswick and Miller 2009). Moreover, Nielsen (2011) shows that deploying the mean instead of the mode of average education does not cause a substantial change of results.

The first best method to deal with overeducation would be an objective evaluation of occupation-specific required education by professional job analysts. However, those approaches as well rely to some extent on arbitrary definitions and moreover, they fail to adapt to the dynamics of occupational and educational change (Eckaus 1964). Realised matches frameworks (Verdugo and Verdugo 1989 relying on the mean value, Kiker et al. 1997 relying on the mode) represent a pragmatic solution in this context. They refrain from externally defined standards and instead of this, let market players decide. According to this method, overeducation arises if one's attained education exceeds the education standard prevailing in one's occupational benchmark group. However, realised matches approaches have their limitations as well. Results vary with the operationalisation of the standard, and overall trends like a general upward move of educational standards may cause a distorted overeducation measurement within persons over time.

Few studies control for measurement error by analysing different operationalisations of overschooling in the same data and model setting (e. g. Bauer 2002, Mendes de Oliveira et al. 2000; see Groot and Maassen van den Brink 2000 for an overview). Moreover, results are dependent on the deployed model specification (Leuven and Oosterbeek 2011, Korpi and Tåhlin 2009, Bauer 2002). Last but not least, results differ due to heterogeneous meta variables like labour market structural imbalances, trade-union density or the structure of academic funding. Davia et al. (2010) conclude from a multinational analysis that an excess supply of graduates raises the risk of being overeducated whereas higher education fees lower it.

Political inferences from overeducation have to be deduced with caution. Zero returns of superfluous years of education indicate that part of the output of the educational system is without productive use on the labour market. Persistent overeducation poses the question which barriers hinder markets to balance demand and supply of qualifications and prevent people from fully exploiting their income capacity. In this context, the question arises if education mirrors productivity.4 Empirical evidence suggests that overeducation in the labour market is at least partly driven by unobserved heterogeneity. In this case, overeducation reflects hidden disabilities as time-invariant personal traits, and different returns to education do not reflect career strategies or imperfect labour markets but a lack of human capital. Hidden disabilities suggest a failure of the educational system: For obtaining the desired certificate, resources like financial or social capital apparently compensate a lack of incorporated mental fitness. People get what they deserve: They are accurately matched on the job market and income reflects individual abilities, but schooling does not. Returns from overeducation are underestimated in this case. The same applies to persons who willingly refrain from maximising their individual income due to hidden preferences (see Frank 1978 mentioned above): Also in this case, returns from excess education are downward biased. The empirical evidence of the prevalence of unobserved heterogeneity in the context of overeducation is manifold (e. g. Andersson Joona et al. 2012, Leuven and Oosterbeek 2011, Blázquez Cuesta

_

⁴ As a result, Jensen et al. (2006) consider overeducation solely with regard to income issues.

and Budría 2011, McGuinness and Bennett 2007, Bauer 2002, Allen and Van der Velden 2001).

Staking out the scope for political action therefore requires a thorough analysis: Exogenous causal factors of overeducation have to be isolated from self-selection effects. Likewise, the estimation of income effects has to take unobserved heterogeneity into account. Not until external impediments which (a) hinder proper job matches, (b) cause noticeable income losses and (c) are subject to political interference are identified, the issue of overeducation is of interest for social and labour market policy.

Actual figures that shape the *magnitude of overeducation* in Germany, particularly among graduates, are hardly available. Accounting for necessity (a) from above, we estimated the incidence and driving factors of overeducation among German graduates (Boll and Leppin forthcoming). Following necessity (c), we deployed a random effects dynamic probit model that accounts for unobserved heterogeneity as well as for state dependence and initial conditions. The results indicate that, according to a realised matches framework, overeducation is neither gender-specific nor is there a marked East/West difference in magnitude. Actually, one third of female and male graduates (33.0 % and 33.9 %, respectively) attained a higher than the prevailing educational level in the respective occupational group.

The aim of this paper is twofold. Firstly, accounting for necessity (b) from above, we aim at quantifying the income consequences of inadequate education among German graduates, thereby relying on the estimated incidence of overeducation following the realised matches approach and, once again, accounting for omitted variable bias. Secondly, we intend to clarify to what extent overeducation accounts for the gender pay gap among graduates in our model and data setting and which other factors play a crucial role in this context. We firstly find that overeducation induces severe wage losses compared to properly matched graduates. The losses are even more pronounced for women. However, overeducation does not contribute to the observed gender wage gap among graduates that amounts to approximately 33 %. Instead, women's lower amount of required years of education accounts for 4 % of the gap. Affecting the gap more seriously, female graduates experience a lower wage return on household characteristics which stimulate a breadwinner role assignment by employers. Moreover, females apparently are less successful in avoiding wage cuts when reducing working hours. We conclude that the price effect of the gap reflects employers' attributions of gender stereotypes, gendered work attitudes as well as noticeable unobserved heterogeneity within and between sexes.

The *outline* of the paper is the following: In section 2, the underlying models for income estimation and decomposition are presented. Section 3 depicts the employed data and variables. Section 4 discusses the empirical results and section 5 concludes.

2 | Model

In order to test if demand side or supply side or both determine the market returns on education, we split attained education into its three components overeducation, required education and undereducation, according to job-specific requirements (Hartog 2000). We therefore follow the ORU⁵ approach established by Duncan and Hoffman (1981). We deploy the ORU model by using the standard random effects approach.⁶ In order to modify the restrictive assumption that unobserved heterogeneity is random and particularly uncorrelated with other covariates (that is, $cov(x_{it}, \alpha_i) = 0$) we incorporate intrapersonal means of time-variant variables which are allowed to interact with the individual fixed effect. Thus, we estimate the income effect of time-variant characteristics net of unobserved fixed effects, though keeping the time invariant information (Mundlak 1978).

In detail, the log-wage y_{it} is estimated by

$$y_{it} = x'_{it}\beta + \gamma_1 U E_{it} + \gamma_2 R E_{it} + \gamma_3 O E_{it} + \bar{x}'_i a + \alpha_i + u_{it}$$

where x_{it} denote the exogenous variables except schooling and \bar{x}'_i their mean over time. OE_{it} depicts the years of surplus education, RE_{it} years of required education and OE_{it} years of deficit education. α_i indicates the individual intercept and u_{it} the error term. We conduct the regressions for women and men separately to allow for gender-specified income effects.

In order to analyse the impact of overeducation on the gender pay gap among graduates we deploy the standard decomposition method of Oaxaca (1973) and Blinder (1973).8 According to this approach, the observable differential in log-wages between men and women may be decomposed into an endowment effect and a price (evaluation) effect:

$$\overline{\ln(\mathbf{w}_{\mathrm{F}})} - \overline{\ln(\mathbf{w}_{\mathrm{M}})} = (\bar{X}_F - \bar{X}_M)\beta_M + (\beta_F - \beta_M)\bar{X}_F$$

The term on the left hand side of the equation denotes the difference in expected values of the female and male gross hourly wage rate, which equals the mean differential. The first term on the right hand side depicts the endowment effect since it indicates the hypothetical wage gain of women if they exhibited men's features. The second term on the right hand side captures the price effect of the wage gap – it displays the hypothetical wage gain of women if their own features were remunerated like men's. The endowment and the price effect sum up to the observed averaged gender wage gap.

⁵ Overeducation/Required education/Undereducation

⁶ A fixed effects approach would have been the first best option to deal with hidden wage-relevant features

⁷ Matching quality may vary over time due to job changes for which 12 % of females' observations account for.

⁸ The decomposition is based on the wage regressions on pooled waves 2008 and 2009.

3 | Data and operationalisation

We employ an unbalanced panel of the GSOEP for the years 1984 to 2010. The sample comprises 22498 observations from 11557 female and 10941 male graduates. 9485 females are employed, of whom 2921 are overeducated and 6564 are not. With regard to males, 3748 of 10482 employed persons are overeducated and 6734 are not. 15315 observations arise from parents, whereas 7183 originate from childless graduates. Only persons aged 20 to 55 are considered, and persons in education, retirement, civil or military service as well as self-employed persons are excluded. The sample is restricted to women and men with academic exams. Information from persons with lower educational levels is solely used to generate the required educational matching variables. Nevertheless, following international standard classification of educational degrees (ISCED), graduates are a heterogeneous group, since the six academic degrees differ in years of education.

Table 1 denotes the gendered distribution of academic degrees. As the statistics show, female graduates attain a lower average amount of years of education than males. Females' share on persons with an East German professional or technical college degree is far higher than males' whereas males have a higher share on university degrees.

Table 1: Degrees of higher education, by gender

Degree	Females (%)	Males (%)
Professional/technical college (East Germany)	19.47	5.88
University/university of applied sciences (East Germany)	6.91	7.16
University/university of applied sciences abroad	0.87	0.89
University of applied sciences (West Germany)	24.18	27.84
University/technical university (West Germany)	48.56	58.18
Doctoral and postdoctoral qualification	0.02	0.05

Sources: SOEP 1984-2010, calculations HWWI.

Graduates furthermore differ in fields of subject. However, we may not differentiate between fields of study since this information is not annually surveyed, and for the sake of consistency, too many observations would have to be eliminated. In order to generate the educational matching variable, we instead refer to the occupational information stored in the ISCO-variables. In more detail, we follow the *realised matches approach* described above. We exploit the information of education in years and refer to the *mean value* of education in the benchmark group to secure a procedure that is sensitive even to small deviations between demanded and supplied education. The occupational affiliation of a person is validated by occupational status information and furthermore complemented by time period dummies to

 9 The definition of graduates refers to persons with higher education (ISCED categories 5a+6).

¹⁰ Anyway, empirical evidence suggests a decreasing impact of field of study on income over the career: Multivariate analyses from Dolton and Vignoles (2000) show for the United Kingdom, that – apart from arts fields – fields of study have lost their income effect six years after exam.

control for occupational change over time.¹¹ Accordingly, superfluous education is defined as a positive deviation, deficit education as a negative deviation and required education as the perfect congruence with the standard. Persons with superfluous education for the actually performed job are regarded as overeducated, those with deficit education as undereducated and those with the required amount of education as correctly matched.

The endogenous variable being the object of income estimations is the (log of) gross hourly wage rate including fringe benefits. SOEP based analyses for Germany show that fringe benefits like Christmas or vacation allowances are more often granted to men even after controlling for the hourly wage rate (Frick et al. 2007). We prorate fringe benefits according to the previous year's ratio of overall fringe and regular income payments. The statistics of the endogenous variable indicates that female graduates earned less than their male counterparts throughout observed years 1984 to 2010, with the sole exceptions 1984 and 1990. For 2010 being the last period observed, the hourly wage rate amounts to 20,62 Euro for female and to 28,35 Euro for male graduates.

Apart from education, we control for a large set of employment biography, work place and household related variables, supplemented by further characteristics capturing parents' home and migration background. Detailed summary statistics of the deployed variables are to be found in table 2 in the appendix.

4 | Results

The **results of the ORU income estimations** are documented in detail in tables 3 and 4 in the appendix. The results confirm previous findings that superfluous education is partly remunerated by the labour market. One year of required education yields a return of 6.8 % for male and of 8.1 % for female graduates. A superfluous year of education is rewarded by 4.2 % for males and 4.7 % for females. A deficit year of education is penalised with a wage loss of 4.5 % for males and 7.2 % for females. That is, overeducated graduates earn more than their properly matched colleagues in the occupational benchmark group but less than their

_

¹¹ In detail, we exploit 10 main occupational groups provided by 1-digit international standard classification of occupations (ISCO) and 11 occupational statuses stored in the SOEP data set. The yielded job/status combinations (job cells) are kept if they contain at least 10 observations. The computation of the average education in a distinct job cell is repeated in six years-time intervals to account for an educational upgrading of occupations. The information is stored in four time period dummys 1984-1989, 1990-1996, 1997-2003, 2004-2010 per job cell. Since attained education is time-constant in our sample, a time-varying educational adequacy within person may solely be due to job changes associated with an altered educational benchmark.

¹² In case of a job change we exploit the information of most recent months in the new job. As the computation of fringe benefits is based on the information of the previous year, wave 2010 has been lost for persons with job change in 2010.

¹³ Moreover (not displayed), East German women's wages are lower than West German women's throughout years, and the same applies to men, respectively. In 2010, East German male graduates almost reached the wage level of West German female graduates (21.35 vs. 21.99 Euro).

properly matched graduates. However, if a woman holds a degree from a technical college whereas the standard in her occupational group is defined by a technical university exam this woman is even paid less than her colleagues. The figures indicate that being properly matched pays off even more for female graduates than for their male counterparts.

The findings are contrary to the hypotheses of job competition as well as assignment theory which imply zero returns of overeducation. Obviously, the labour market is at least partly capable to absorb excess qualification and to use it in an income generating way. Furthermore, different returns on investment depending on job requirements are neither in line with human capital theory, if they persist over time. This particularly holds for women and contradicts findings from Vahey (2000) who found equal returns of overeducation for male and female graduates. However, although the estimation approach deals with unobserved heterogeneity in many ways, it may not be excluded that different returns to education partly reflect a self-selection into overeducation, driven by disabilities, health status or unaccounted preferences. Since employed women are a more selective group than employed men, this suggestion particularly applies to female graduates. According to Bauer (2002) women's differences in wage returns to education disappear when deploying a fixed effects estimator. For this reason, we suggest that human capital theory may not be clearly rejected by the findings of this study. However, there is no imperative that gender-specific returns on overeducation solely point to unobserved personal traits. Instead, they might furthermore originate in differences in assigned productivity from the employers' side. In this case, as Korpi and Tåhlin (2009) show, different returns to (over-)education keep their significance even in a fixed effects approach. Furthermore, based on the assumption that a higher income reflects higher abilities and is therefore rather seldom subject to unobserved heterogeneity, McGuinness and Bennett (2007) tested the human capital hypothesis by conducting a quantile-specific analysis of wage returns on education. The findings indicate that the lower female returns on overeducation do not vanish in the upper sections of the income distribution. As a result, the findings suggest that not only supply side but also demand side factors drive the observed gender differences in the remuneration of education.

Apart from education, some *other characteristics* feature *significant wage effects* with regard to within-person effects. Some of them display the same effects for men and women, others induce gender-specific effects. Since differences in endowments as well as a different remuneration of characteristics account for the gender pay gap, some of the results of the earnings estimation shall be discussed in the following paragraphs.

A higher employment experience or residing in the southern part of Germany induces higher wage for both men and women. The first of these effects strengthens career mobility theory. Likewise, part-time employment (compared to full-time), an employment in the manufacturing sector, higher partner's earnings as well as parenthood induce positive wage effects. By contrast, working in a small enterprise with less than 200 employees, the experience of regis-

_

¹⁴However, the hypothesised higher wage mobility of formerly overeducated employees in their further career is not the subject of this study.

tered unemployment, a job change or living in the Eastern part of Germany lowers wages. Additionally, spells out of the labour market for family or other reasons which are not associated with an unemployment registration lead to significant wage cuts only for women. Furthermore, being employed in the public sector benefits females' but reduces males' wages. This finding confirms results from Holst (2010). It mirrors the lower risk of overeducation in the public sector that has been retrieved from own estimations of overeducation incidence. Obviously – and presumably due to a higher focus on attained formal qualification in personnel hiring – the public sector protects women against educationally inadequate jobs. However, this does not hold for males for whom the private sector seems to provide better job matches associated with higher incomes.

Some job features hardly vary over time; this particularly holds for sector affiliation. Here, the within estimator is of limited importance, since most variation accrues to interpersonal differences. For example, employees in the banking and insurances sector earn significantly more than other employees. As above mentioned, the main function of the mean values is to absorb (part of) the unobserved heterogeneity. The mean values allow an interpretation of the characteristics' parameters as a pure within-estimator. With regard to employment status, switching from full-time to part-time employment is associated with an hourly wage gain of 21.3 % for females and of 17.2 % for males. 15 Theories that deal with the wage effects of part-time are manifold. They comprise an enhanced attractiveness of a flexible handling of production factors, changed work preferences of scarce skilled labour as a supply side factor as well as differing assumptions with regard to productivity (see Wolf 2010 for a detailed discussion). Furthermore, since 2000 the German Part-Time Work and Fixed-Term Employment Contracts Law ("Teilzeit- und Befristungsgesetz") entitles employees to work part-time and prohibits any wage discrimination in the context of employment transfer from full-time to part-time. Some apparently contradicting results in the empirical literature (Wolf 2010, Busch and Holst 2008) may be referred to differences in model specification. For example, since the estimator deployed by Wolf (2010) does not control for unobserved heterogeneity, the parameter of part-time captures not only within-person- but also selection effects. Moreover, results depend on the deployed operationalisation, particularly the distinction between regular part-time and precarious employment.

Some further results point to severe *selection effects*, particularly with regard to women. Although the mean values are not interpreted easily, it has to be assumed that they capture part of the unobserved heterogeneity between persons. In an interpersonal comparison, part-time employed male and female graduates earn less per hour than full-time employed. The hourly wage rate for part-time employed versus full-time employed (not sex-differentiated) in our sample comes close to the figures based on the Structure of Earnings Survey of the Ger-

⁻

¹⁵ The advantageous effect is even more pronounced in Western Germany, compared to the Eastern part ("Neue Bundesländer"). Nevertheless, the gender effect should not be overrated since only 4.6 % and 4.7% of male graduates work part-time in Western and Eastern Germany, respectively.

man Federal Statistical Office. ¹⁶ Moreover, mothers earn less than childless female graduates, whereas fathers do not suffer any fatherhood penalty in a cross-sectional view. It has to be suggested that female graduates are to a higher extent than their male counterparts subject to selection processes which themselves are driven by unobserved personal traits.

Female and male graduates further differ in the *remuneration of de facto working hours*. A reduction of de facto weekly working hours is associated with a reduction of the hourly wage rate for women and an increase for men. That is, women who reduce their working time are confronted with an even higher loss of the monthly salary, inducing the hourly wage rate to decrease. By contrast, men doing so manage to keep the salary constant or without noticeable cuts. At least two reasons may account for this finding. Firstly, a higher level of de facto weekly working hours (irrespective of agreed working hours in the employment contract) might facilitate a salary-neutral reduction of working hours in terms of reduced overtime hours. It has to be noted that the accruing wage effect of de facto working time is retrieved from the earnings regressions, given all other characteristics including employment status. But indeed, overtime hours are higher for men than for women in our sample, even among the full-time employed. Secondly, the more sensitive respondence of females' monthly salary to a modification in working hours might reflect gendered working attitudes with regard to a fair wage, resulting in a more modest demeanor in wage negociations.¹⁷

Last but not least, the *household context is differently remunerated* for men than for women. The within estimators indicate that males' wages benefit from the existence of a pre-school child, a higher household size and partners' cohabitation (instead of being single or living apart). Between persons, married men earn more than unmarried men and fathers earn more than childless men. None of these within or between effects applies to women. By contrast, a pre-school child lowers females' income within persons. As mentioned above in the context of selection effects, mothers furthermore earn less than childless women in an interpersonal comparison. It has to be concluded that gendered cross-section effects presumably not only reflect selection processes on the side of employees but also different attributions on the side of employers. In more detail, household characteristics that stimulate the breadwinner role seem to induce a wage premium solely for men, whereas women do not benefit. The fact that solely men are granted those breadwinner premiums reflects traditional gender stereotypes assigned to male and female graduates.

_

¹⁶ In 2010, the median value of the gross hourly wage rate amounted in the deployed SOEP sample to 19.50 Euro for part-time and to 21.94 Euro for full-time employed persons. Since these figures base on de facto weekly working hours, the somewhat higher figures of the German Federal Statistical Office of 21.38 Euro and 23.97 Euro, respectively (Statistisches Bundesamt 2012a) are assumed to origin in a deviant specification of working hours.

¹⁷ The more sensitive salary respondence with regard to women holds for both directions; analogously, an increase in females' de facto working hours leads to an even more pronounced salary increase, resulting in an increased hourly wage rate. Nevertheless, as wage decomposition later on will show, it is the wage effect of reduced hours that contributes to the observed gender wage gap.

The calculated **mean gender wage gap** in our sample of graduates amounts to approximately 32.5 %. Due to the nonlinearity of logarithms, the gross hourly wage differential has to be denoted by approximation. The overall wage differential that amounts to 0.325 log-points may be interpreted as an approximately wage gap of 32.5 %.¹⁸

For assessing the **effect of overeducation** on the gap we decomposed the mean following the approach from Oaxaca (1973) and Blinder (1973) as described above in the model chapter. For this purpose we use earnings regressions based on the pooled information from waves 2008 and 2009. The results indicate that 20.3 % of the gap refers to different endowments and 12.2 % to a different remuneration of characteristics by the labour market. That is, female graduates earn 20.3 % less than males because they feature different characteristics and 12.2 % less because their characteristics pay off differently. The latter effect has not to be considered as discrimination for two reasons. Firstly, it might be harder for women to access highly remunerated job attributes; the discrimination signaled by the price effect would be then be biased downward. Secondly, the price effect also encompasses unobserved heterogeneity. This arises from the fact that we may not incorporate mean values in the regressions which provide the basis for the decomposition. Hence, the discrimination displayed by the price effect may be upward biased due to selection effects.

With regard to the years of education, only required years of education display a significant effect on the gap. The effect refers to different endowments, not to a different remuneration of those. In detail, female graduates earn 4.2 % less than their male counterparts because they work more often in jobs with fewer required years of education. This must not be interpreted as overeducation, since the effect of overeducation is separately controlled for. Instead, as table 1 above showed, women exhibit a higher share of graduates with a professional or technical college degree, whereas males dominate university degrees with a higher amount of required years of education. Therefore, the endowment effect of required education reflects a gendered educational distribution among graduates. Indeed, overeducation does not make any significant contribution to the wage gap. As mentioned above, former own analyses showed that with regard to the educational standard in the relevant occupational benchmark group, female graduates are almost as often overeducated as male graduates. Notwithstanding the result from income regression that this circumstance is more severely penalised for women than for men, overeducation apparently does not matter for explaining the wage gap between sexes. The lack of significant overeducation effects in this regard is congruent with the empirical evidence (Li and Miller 2012, Leuze and Strauß 2009, Vahey 2000).

_

¹⁸That is, female graduates earned 27.3 % less than male graduates. This value is congruent with calculations of the German Federal Statistical Office that actually numbers the gap with 27.1 % (Statistisches Bundesamt 2012b).

Apart from a lower amount of required years of education, several further differences in endowments or remunerations account for the gap. Among others, females graduates earn less than their male counterparts because ... (accounting for ...% of the gap)

- they have less employment experience (1.6 %),
- they feature more unemployment experience (2.8 %),
- time out of the labour market is penalized more severely (3.2 %),
- they work more often in the public sector (2.1 %),
- they work more often as civil servants (0.5 %),
- they work more often in small enterprises (1.8 %),
- they are less often married (1.8 %),
- being married does not pay off (11.3 %),
- they more often live in the Eastern part of Germany (3.0 %), and
- they are less successful in avoiding wage cuts when reducing working hours (33.0 %).

These effects do not sum up to the mentioned overall wage gap since the list is not complete. The full endowment and price effects are documented in table 5 in the appendix. It has to be recognised that some factors work more advantageous for women, thereby reducing the gap. This applies to the evaluation of part-time work, of public sector employment and of several sector affiliations.

5 | Conclusion

In accordance with Leuven and Oosterbeek (2011) we conclude that in the awareness of omitted variable bias and measurement error, a thorough analysis of the returns to overeducation is required. Accounting for unobserved heterogeneity and relying on a realised matches approach, we find that overeducation induces positive but lower wage returns than proper matches. The wage penalty of inadequate matches is even more pronounced for female graduates than for their male counterparts. The findings are contrary to assignment and job competition theory. Human capital theory may not be fully rejected since the deployed random effects estimator does not fully account for unobserved fixed effects, and the Mundlak correction provides only a partial compensation.

Following an interpretation of Korpi and Tåhlin (2009), overeducated persons seem to be a heterogeneous group. (1) Some persons experience temporary overeducation associated with an early stage in the occupational career or with job market frictions. (2) For others income differentials might originate in unobserved impediments, health status or preferences. (3) They might reflect assigned gender stereotypes, and (4) a last group of persons might be

trapped in overeducation due to institutional barriers, although being equally productive and equally treated. Only the last two causes may be remedied by adequate policies. .

Notwithstanding the wage effects of overeducation, overeducation does not matter for explaining the gender wage gap among graduates. This result does not come as a surprise considering the almost equal occurrence of overeducation among German male and female graduates from an objective (realised matches) point of view. Moreover, the result is in line with previous empirical findings. Apparently, other factors affect the gap more seriously. Equal matches are only one part of the story.

The findings indicate that a noticeable part of the wage gap may be attributed to gender stereotypes assigned by employers and presumably incorporated in women's labour market decisions. Academically qualified women who accept the role of being an additional earner and who claim lower earnings for their work receive a lower remuneration from the labour market. Only male graduates are granted breadwinner wage premiums, and women suffer wage reductions when reducing working hours. Apart from those price effects, also some differences in endowments are evident for the gap, similarly subject to gendered attitudes: The prevalence of women in the public sector as well as the lower amount of labour market experience reflects women's preferences for parental childcare in early years and for jobs being reconcilable with family chores (Boll 2011). Hence, social policies as well as human resources management tools on the firm level, which boost equal responsibilities and chances of men and women on the labour market and within families enhance the quality of job matches.

References

Allen, J., Van der Velden, E. (2001): Educational mismatches versus skill mismatches: effects on wages, job satisfaction, and on-the-job search, *Oxford Economic Papers* 53 (3): 434-452.

Andersson Joona, P., Datta Gupta, N., E. Wadensjö (2012): Overeducation among Immigrants in Sweden: Incidence, Wage Effects and State-Dependence, *IZA Discussion Paper* 6695.

Bauer, T. (2002): Educational mismatch and wages: a panel analysis, *Economics of Education Review* 21 (3): 221-229.

Ben-Porath, H. (1967): The Production of Human Capital Over the Life Cycle, *Journal of Political Economy* 75: 352-365.

Blázquez Cuesta, M., S. Budría (2011): Overeducation Dynamics and Personality, *Department of Economic Analysis Working Paper* 5/2011, University of Madrid, Spain.

Blinder, A. S. (1973): Wage Discrimination: Reduced Form and Structural Estimates, *The Journal of Human Resources* 8 (4): 436-455.

Borghans, L., A. de Grip (2000): The debate in economics about skill utilization, in: Borghans, L., A. de Grip (eds.), The overeducated worker? The economics of skill utilization. Edward Elgar, Cheltenham/UK, 3 - 23.

Boll, C. (2011). Mind the gap – German motherhood risks in figures and game theory issues. *International Economics and Economic Policy* 4 (8), 363-382.

Büchel, F. (2001): Overqualification: reasons, measurement issues and typological affinity to unemployment, in: Descy, P., M. Tessaring (eds.), Training in Europe. Second report on vocational training research in Europe 2000: background report. *Cedefop Reference series*, Luxembourg: Office for Official Publications of the European Communities: 453-560.

Büchel, F. (1996): Der hohe Anteil an unterwertig Beschäftigten bei jüngeren Akademikern: Karrierezeitpunkt- oder Strukturwandel-Effekt?, Sonderdruck aus: *Mitteilungen aus der Arbeitsmarkt- und Berufsforschung* 29 (2).

Büchel, F., H. Battu (2002): The Theory of Differential Overqualification: Does it Work?, *IZA Discussion Paper* 511, June.

Büchel, F., M. Pollmann-Schult (2002): Ausbildungsinadäquate Erwerbstätigkeit: eine berufliche Sackgasse? Eine Analyse für jüngere Nicht-Akademiker in Westdeutschland, *Mitteilungen aus der Arbeitsmarkt- und Berufsforschung* 35 (3).

Büchel, F., A. Mertens (2000): Overeducation, Undereducation and the theory of career mobility, *IZA Discussion Paper* 195.

Bundesagentur für Arbeit (BA), Arbeitsmarktberichterstattung (2012): Der Arbeitsmarkt für Akademikerinnen und Akademiker. Gute Bildung – gute Chancen, Nürnberg.

Busch, A., E. Holst (2008): "Gender Pay Gap": in Großstädten weniger als auf dem Land, DIW Wochenbericht 75(33): 462-468.

Chiswick, B. R., P. W. Miller (2009): Does the Choice of Reference Levels of Education in the ORU Earnings Equation Matter?, *IZA Discussion Paper* 4382.

Davia, M. A., McGuiness, S., P. J. O'Connell (2010): Explaining International Differences in Rates of Overeducation in Europe, *Economic and Social Research Institute (ESRI) Working Paper* 365. http://ideas.repec.org/p/esr/wpaper/wp365.html.

Dekker, R., de Grip, A., H. Heijke (2002): The effects of training and overeducation on career mobility in a segmented labour market, *International Journal of Manpower* 23 (2): 106-125.

Dolton, P., A. Vignoles (2000): The incidence and effects of overeducation in the U.K. graduate labour market, *Economics of Education* 19: 179-198.

Duncan, G., S. Hoffman (1981): The incidence and wage effects of overeducation, *Economics of Education Review* 1 (1): 75-86.

Eckaus, R. (1964): Economic criteria for education and training, *Review of Economics and Statistics* 46: 181-190.

Frank, R. H. (1978): Why Women Earn Less: The Theory and Estimation of Differential Overqualification, *American Economic Review 68 (3): 360-373*.

Frick, J. R., Grabka, M. M., O. Groh-Samberg (2007): Estimates of Home Production and Fringe Benefits and Analysis of their Distributional Impact. AIM-AP Deliverable D1.4d, AIM-AP National Report for Germany on behalf of the European Commission, Berlin.

Groot, W., H. Maassen van den Brink (2000): Overeducation in the labor market: a meta-analysis, *Economics of Education Review* 19: 149–158.

Hartog, J. (2000): Overeducation and earnings: where are we, where should we go?, *Economics of Education Review* 19: 131–147.

Helmrich, R., Zika, G., Kalinowski, M., M. I. Wolter (2012): Engpässe auf dem Arbeitsmarkt: Geändertes Bildungs- und Erwerbsverhalten mildert Fachkräftemangel. Neue Ergebnisse der BIBB-IAB-Qualifikations- und Berufsfeldprojektionen bis zum Jahr 2030, *BIBB-Report* 18/12.

Jensen, U., Gartner, H., S. Rässler (2006): Measuring overeducation with earnings frontiers and multiply imputed censored income data, *IAB-Discussion Paper* 11.

Kiker, B., Santos, M., M. de Oliveira (1997): Overeducation and undereducation: Evidence for Portugal, *Economics of Education Review* 16 (2): 111-125.

Korpi, T., M. Tåhlin (2009): Educational mismatch, wages, and wage growth: Overeducation in Sweden, 1974-2000, *Labour Economics* 16: 183-193.

Leuven, E., H. Oosterbeek (2011): Overeducation and Mismatch in the Labor Market, *IZA Discussion Paper* 5523.

Leuze, K., S. Strauß (2009): Lohnungleichheiten zwischen Akademikerinnen und Akademikern. Der Einfluss von fachlicher Spezialisierung, frauendominierten Fächern und beruflicher Segregation, *Zeitschrift für Soziologie* 38 (4): 262-281.

Li, I. W., P. W. Miller (2012): Gender Discrimination in the Australian Graduate Labour Market, *IZA Discussion Paper* 6595.

McGuinness, S. J. Bennett (2007): Overeducation in the graduate labour market: A quantile regression approach, *Economics of Education Review* 26: 521–531.

Mendes de Oliveira, M., Santos, M. C., B. F. Kiker (2000): The role of human capital and technological change in overeducation, *Economics of Education Review* 19: 199–206.

Mincer, J. (1978): Family Migration Decisions. Journal of Political Economy 86 (5): 749-773.

Mincer, J. (1974): Schooling, Experience, and Earnings, New York: Bureau of Economic Research, Columbia University Press, New York.

Mortensen, D. T. (1987): Job search and labor market analysis, in: O. Ashenfelter & R. Layard (ed.), Handbook of Labor Economics 1 (2), chapter 15: 849-919. Elsevier.

Mundlak, Y. (1978): On the pooling of time series and cross section data, *Econometrica*, 46 (1): 69-85.

Nielsen, C. P. (2011): Immigrant over-education: evidence from Denmark, *Journal of Population Economics* 24: 499-520. Oaxaca (1973).

Quintini, G. (2011): Right for the Job: Over-qualified or under-skilled?, OECD Social, Employment and Migration Working Papers 120, Paris.

Rukwid, R. (2012): Grenzen der Bildungsexpansion? Ausbildungsinadäquate Beschäftigung von Ausbildungs- und Hochschulabsolventen in Deutschland, *Schriftenreihe des Promotions-schwerpunkts Globalisierung und Beschäftigung* 37/2012, Universität Stuttgart-Hohenheim.

Sattinger, M. (1993): Assignment models of the distribution of earnings, *Journal of Economic Literature* 31 (2): 851–880.

Sattinger M. (1975): Comparative advantage and the distribution of earnings and abilities, *Econometrica* 43(3): 455-468.

Sicherman, N. (1991): 'Overeducation' in the labor market, *Journal of Labor Economics* 9 (2): 101-122.

Sicherman, N., O. Galor (1990): A Theory of Career Mobility, *Journal of Political Economy*, Vol. 98 (1), S. 169-192.

Spence, M. (1973): Job Market Signalling, Quarterly Journal of Economics 87 (3): 355-374.

Statistisches Bundesamt (2012a): Niedriglohn und Beschäftigung 2010. Begleitmaterial zur Pressekonferenz am 10. September 2012 in Berlin (Tabelle 5.1).

Statistisches Bundesamt (2012b): Frauen verdienten 2010 in Führungspositionen 30 % weniger als Männer. Pressemitteilung Nr. 345 vom 04.10.2012. https://www.destatis.de/DE/PresseService/Presse/Pressemitteilungen/2012/10/PD12_345_621. html.

Stigler, G. J. (1961): The economics of information, *Journal of Political Economy* 69 (3): 213–225.

Thurow, L. C. (1975): Generating Inequality: Mechanisms of distribution in the U. S. economy, New York: Macmillan Interactive Publishing.

Tinbergen J. (1956): On the Theory of Income Distribution, Weltwirtschaftliches Archiv 77: 155-175.

Vahey, S. P. (2000): The great Canadian training robbery: evidence on the returns to educational mismatch, *Economics of Education Review* 19: 219–227.

Verdugo, R., N. Verdugo (1989): The impact of surplus schoolings on earnings: some additional findings, *Journal of Human Resources* 24 (4): 629-643.

Wolf, E. (2010): Lohndifferenziale zwischen Vollzeit- und Teilzeitbeschäftigten in Ost- und Westdeutschland, WSI-Diskussionspapier 174, Wirtschafts- und Sozialwissenschaftliches Institut der Hans-Böckler-Stiftung, Düsseldorf.

ANNEX – Table 2:

Descriptive statistics

	Female gr	aduates			Male graduates			
*=Dummy	Overeduca	ated	Not overe	ducated	Overeduc	ated	Not overe	ducated
·	Mean value	Std. dev.	Mean value	Std. dev.	Mean value	Std. dev.	Mean value	Std. dev.
Endogenous variable								_
Log gross hourly wage rate	2.7016	0.545	2.8737	0.4909	3.0744	0.5908	3.173	0.4761
Exogenous variables								
Education								
Attained education (years)	16.8812	1.6009	15.9016	2.2092	17.4048	1.3072	16.5434	1.785
Required education (years)	12.9226	1.5217	15.5431	2.0446	13.844	1.5881	16.0582	1.3314
Superfluous education (years)	3.9586	1.4208	0.6703	0.6685	3.5607	1.2476	0.8115	0.8169
Deficit education (years)	0	0	0.3118	0.8277	0	0	0.3263	0.7534
Employment biography								
Full-time employment* (self- assessment of survey person) (Reference)	0.6765	0.4679	0.6552	0.4753	0.9434	0.231	0.9399	0.2378
Part-time employment* (self-assessment of survey person)	0.2824	0.4503	0.3312	0.4707	0.0499	0.2178	0.0564	0.2308
Precarious/irregular employ- ment* (self-assessment of survey person)	0.0411	0.1985	0.0136	0.1157	0.0067	0.0814	0.0037	0.0608
Age (years)	40.3899	8.3068	41.4794	7.9311	41.9373	7.7592	42.5829	7.8326
Employment experience (full-time + part-time, years)	13.8652	8.2315	16.0861	8.3748	15.6005	8.118	16.4415	8.2408
OLF experience (years out of the labour force for family or other reasons)	2.0295	4.2487	1.7302	3.6557	0.1735	1.4128	0.1902	1.3234
Unemployment experience (registered UE, years)	0.4661	1.1376	0.2693	0.8236	0.2505	0.7762	0.1512	0.4938
Job change*	0.1743	0.3794	0.0957	0.2942	0.1195	0.3245	0.0967	0.2955
Re-entry after break*	0.0402	0.1965	0.0279	0.1648	0.0009	0.0298	0.0014	0.0369
Job features								
Primary sector, energy, mining*	0.0209	0.143	0.0143	0.1188	0.0224	0.148	0.0288	0.1673
Manufacturing* (Reference)	0.1181	0.3228	0.0506	0.2192	0.1945	0.3959	0.1534	0.3604
Construction*	0.0555	0.2289	0.0283	0.1659	0.119	0.3238	0.1607	0.3673
Trade*	0.1072	0.3094	0.0363	0.1869	0.0648	0.2463	0.0296	0.1694
Transport*	0.0411	0.1985	0.0235	0.1514	0.0502	0.2183	0.0248	0.1555
Banking and insurances*	0.0688	0.2532	0.018	0.1329	0.095	0.2932	0.0294	0.1689
Other services* (business services, public administration, social insurance carriers)	0.5885	0.4922	0.8291	0.3765	0.4541	0.498	0.5734	0.4946
Civil servant*(Reference: oth- erwise dependently employed)	0.0941	0.2921	0.2329	0.4227	0.1427	0.3499	0.1991	0.3994

	Female gi	raduates			Male graduates			
*=Dummy	Overeduca	ated	Not overe	ducated	Overeduca	ated	Not overeducated	
	Mean value	Std. dev.	Mean value	Std. dev.	Mean value	Std. dev.	Mean value	Std. dev.
Public sector* (Reference: Private sector)	0.3526	0.4779	0.6429	0.4792	0.2444	0.4298	0.375	0.4841
Big enterprise* (2000 or more employees) (<i>Reference</i>)	0.229	0.4203	0.2485	0.4322	0.3493	0.4768	0.3119	0.4633
Medium-size enterprise* (200- 199 employees)	0.2352	0.4242	0.1885	0.3911	0.2665	0.4422	0.2282	0.4197
Small enterprise* (less than 200 employees)	0.5207	0.4997	0.5424	0.4982	0.3647	0.4814	0.4385	0.4962
Partner- and household context								
Single* (without partner or not living together with a partner)	0.2537	0.4352	0.227	0.4189	0.2068	0.405	0.161	0.3675
Married* (living together with husband/wife)	0.811	0.3916	0.8573	0.3498	0.8759	0.3298	0.8782	0.327
Cohabiting * (living together but not married)	0.189	0.3916	0.1427	0.3498	0.1241	0.3298	0.1218	0.327
Partner's gross wage income (per month, Euro)	3947.18	3007.94	3814.16	3551.25	1866.86	1981.81	1770.13	2155.74
Partner is highly educated* (ISCED 6)	0.5931	0.4914	0.5845	0.4928	0.5536	0.4972	0.492	0.5
Partner is medium educated* (ISCED 3-5)	0.3638	0.4812	0.393	0.4885	0.4238	0.4942	0.4736	0.4993
Partner is lowly educated* (ISCED <3)	0.0431	0.2032	0.0225	0.1482	0.0225	0.1484	0.0343	0.1821
Nonwage income of the household (interest, rent, dividend, redistributive income, Euro)	222.29	683.49	217.55	794.24	261.92	1178.71	290.62	1273.87
Parenthood* (referring to births; reference= childlessness)	0.6553	0.4754	0.7198	0.4491	0.5993	0.4901	0.6534	0.4759
Child aged 7 or older* (Reference)	0.8736	0.3324	0.8874	0.3161	0.7569	0.429	0.7791	0.4149
Child aged 6 or younger*	0.2079	0.4059	0.1989	0.3992	0.3914	0.4882	0.3659	0.4817
Single parent* (single status with at least one child)	0.1594	0.3661	0.1323	0.3388	0.0454	0.2083	0.0418	0.2002
Household size (persons)	2.8388	1.1799	2.9447	1.2194	3.0192	1.3341	3.183	1.3536
Daily leisure time budget (24 minus 8 minus one fifth of de facto weekly working hours)	7.6162	2.5424	7.7625	2.2513	5.9731	1.7193	6.1305	1.6541
Residence in North Germany* (Hamburg, Schleswig-Holstein, Bremen, Niedersachsen)	0.1082	0.3107	0.0862	0.2807	0.1211	0.3263	0.1301	0.3364
Residence in East Germany* (Sachsen, Sachsen-Anhalt, Thüringen, Brandenburg, Meck- lenburg-Vorpommern, Berlin)	0.4365	0.496	0.473	0.4993	0.306	0.4609	0.2377	0.4257

	Female g	raduates			Male graduates					
*=Dummy	Overeduc	ated	Not overe	ducated	Overeduc	Overeducated		ducated		
,	Mean value	Std. dev.	Mean value	Std. dev.	Mean value	Std. dev.	Mean value	Std. dev.		
Residence in West Germany* (Nordrhein-Westfalen, Rhein- land-Pfalz, Saarland)	0.2273	0.4192	0.1968	0.3976	0.238	0.4259	0.2617	0.4396		
Residence in South Germany* (Bayern, Baden-Württemberg, Hessen)	0.228	0.4196	0.2439	0.4295	0.3348	0.472	0.3705	0.483		
Parents' home characteristics										
Mother is highly educated* (ISCED 6)	0.1482	0.3554	0.1414	0.3484	0.1283	0.3345	0.1099	0.3128		
Father is highly educated* (ISCED 6)	0.3112	0.4631	0.3112	0.463	0.3359	0.4724	0.2914	0.4544		
Mother is employed* (at age 15 of survey person)	0.2746	0.4464	0.2186	0.4133	0.2423	0.4285	0.2318	0.422		
Father is employed* (at age 15 of survey person)	0.9291	0.2566	0.9167	0.2764	0.9176	0.2751	0.9087	0.2881		
Nationality/migration backgroun	nd									
Foreign nationality*	0.0305	0.1719	0.0158	0.1249	0.0358	0.1857	0.0186	0.135		
No migration background*	0.9127	0.2823	0.943	0.2318	0.9178	0.2747	0.933	0.25		
Indirect migration back- ground* (at least one parent born abroad)	0.0195	0.1383	0.0203	0.1409	0.0277	0.1643	0.0269	0.1617		
Direct migration background* (survey person born abroad)	0.0678	0.2514	0.0367	0.1881	0.0544	0.2269	0.0401	0.1962		

Earnings estimation results, male graduates

Number of observations 10482 Number of persons 1605 R-sq: within Between = 0,1527 = 0,4192 = 0,3487 Overall

Observations per Person: min 1 avg

6,5 25 max

Wald chi2(60) Prob > chi2 2730,23 0,0000

Part-time employment 0.1715 0.0168 10.20 0.000 0.1385 0.2044	Log(hourly wage rate)	Coefficient	Std. Err.	z	P>z	[95% Conf. I	nterval]
Employment experience 0.0221 0.0009 25.68 0.000 0.0204 0.0238 OLF experience -0.0520 0.0714 -0.73 0.466 -0.1919 0.0879 Unemployment experience -0.0932 0.0171 5.44 0.000 -0.1268 -0.0596 Job change -0.0320 0.0094 3.42 0.001 -0.0504 -0.0137 Re-entry after break -0.1904 0.1013 -1.88 0.060 -0.3888 0.0081 Required education 0.0683 0.0067 10.21 0.000 0.0552 0.0814 Superfluous education 0.0424 0.0069 6.13 0.000 0.0289 0.0560 Deficit education -0.0454 0.0096 4.71 0.000 -0.0642 -0.0265 Mean Part-time employment -0.1556 0.0633 -2.46 0.014 -0.2796 -0.0317 Mean Employment experience -0.0140 0.0018 -7.63 0.000 -0.0176 -0.0104 Mean OLF experience 0.0202 0.0224 0.0567 -7.51 0.000 -0.5457 -0.3199 Job features Primary sector, energy, mining -0.0187 0.0398 -0.47 0.638 -0.0968 0.0593 Dahling and insurances -0.0792 0.0360 -2.20 0.028 -0.028 -0.0037 -0.0038 Dahling and insurances -0.0792 0.0360 -2.20 0.028 -0.0108 -0.0032 Dahling and insurances -0.0792 0.0360 -2.20 0.028 -0.1497 -0.0087 0.0097 -0.0087 0.0097 -0.0087 0.0097 -0.0097 0.0097 0.0097 0.0097 0.0097 0.0097 0.0098 -0.0097 0.0098 0.0097 0.0098 0.0099 0.0097 0.0099 0.00997 0	Employment biography						
OLF experience -0.0520 0.0714 -0.73 0.466 -0.1919 0.0879 Unemployment experience -0.0932 0.0171 -5.44 0.000 -0.1268 -0.0966 Job change -0.0320 0.0094 -3.42 0.001 -0.0504 -0.0137 Re-entry after break -0.1904 0.1013 -1.88 0.060 -0.3888 0.0081 Required education 0.0683 0.0067 10.21 0.000 0.0552 0.0814 Superfluous education 0.0424 0.0069 6.13 0.000 0.0289 0.0560 Deficit education -0.0454 0.0096 -4.71 0.000 -0.0642 -0.0265 Mean Part-time employment -0.1556 0.0633 -2.46 0.014 -0.2796 -0.0317 Mean Employment experience 0.0503 0.0718 0.70 0.484 -0.0904 0.1909 Mean Job change -0.4328 0.0576 -7.51 0.00 -0.5457 -0.3199 Job features <	Part-time employment	0.1715	0.0168	10.20	0.000	0.1385	0.2044
Unemployment experience -0.0932 0.0171 -5.44 0.000 -0.1268 -0.0596 Job change -0.0320 0.0094 -3.42 0.001 -0.0504 -0.0137 Re-entry after break -0.1904 0.1013 -1.88 0.060 -0.3888 0.0081 Required education 0.0683 0.0067 10.21 0.000 0.0552 0.0814 Superfluous education 0.0424 0.0069 6.13 0.000 0.0289 0.0560 Deficit education -0.0454 0.0096 4.71 0.000 -0.0642 -0.0265 Mean Part-time employment -0.1556 0.0633 -2.46 0.014 -0.2796 -0.0317 Mean Employment experience 0.0503 0.0718 0.70 0.484 -0.0904 0.1909 Mean Jule change 0.0432 0.0576 -7.51 0.000 -0.5457 -0.3199 Job features 0.0422 0.0224 0.90 0.367 -0.0238 0.0642 Mean Job change <t< td=""><td>Employment experience</td><td>0.0221</td><td>0.0009</td><td>25.68</td><td>0.000</td><td>0.0204</td><td>0.0238</td></t<>	Employment experience	0.0221	0.0009	25.68	0.000	0.0204	0.0238
Job change -0.0320 0.0094 -3.42 0.001 -0.0504 -0.0137 Re-entry after break -0.1904 0.1013 -1.88 0.060 -0.3888 0.0081 Required education 0.0683 0.0067 10.21 0.000 0.0552 0.0814 Superfluous education 0.0424 0.0069 6.13 0.000 0.0289 0.0560 Deficit education -0.0454 0.0096 -4.71 0.000 -0.0642 -0.0265 Mean Part-time employment -0.1556 0.0633 -2.46 0.014 -0.2796 -0.0317 Mean Employment experience -0.0140 0.0018 -7.63 0.000 -0.0176 -0.0104 Mean Unemployment experience 0.0503 0.0718 0.70 0.484 -0.0904 0.1909 Mean Job change -0.4328 0.0576 -7.51 0.000 -0.5457 -0.3199 Job features -0.0187 0.0398 -0.47 0.638 -0.0968 0.0593 Construction	OLF experience	-0.0520	0.0714	-0.73	0.466	-0.1919	0.0879
Reentry after break	Unemployment experience	-0.0932	0.0171	-5.44	0.000	-0.1268	-0.0596
Required education 0.0683 0.0067 10.21 0.000 0.0552 0.0814 Superfluous education 0.0424 0.0069 6.13 0.000 0.0289 0.0560 Deficit education -0.0454 0.0096 -4.71 0.000 -0.0642 -0.0265 Mean Part-time employment -0.1556 0.0633 -2.46 0.014 -0.2796 -0.0317 Mean Employment experience -0.0140 0.0018 -7.63 0.000 -0.0176 -0.0104 Mean OLF experience 0.0503 0.0718 0.70 0.484 -0.0904 0.1909 Mean Unemployment experience 0.0202 0.0224 0.90 0.367 -0.0238 0.0642 Mean Job change -0.4328 0.0576 -7.51 0.000 -0.5457 -0.3199 Job features Primary sector. energy. mining -0.0187 0.0398 -0.47 0.638 -0.0968 0.0593 Construction 0.0042 0.0168 0.25 0.802 -0.0287 0.0371 Trade -0.0564 0.0267 -2.11 0.035 -0.1087 -0.0040 Transport -0.0976 0.0333 -2.93 0.003 -0.1629 -0.0323 Banking and insurances -0.0792 0.0360 -2.20 0.028 -0.1497 -0.0087 Other services -0.0439 0.0172 -2.54 0.011 -0.0777 -0.0101 Civil servant -0.0241 0.0231 -1.05 0.295 -0.0694 0.0211 Public sector -0.0517 0.0156 -3.31 0.001 -0.0824 -0.0211 Medium-size enterprise -0.0130 0.0111 -1.17 0.242 -0.0347 0.0088 Small enterprise -0.0262 0.0116 -2.27 0.023 -0.0488 -0.0036 Mean Primary sector. energy. mining -0.0448 0.0806 -0.56 0.578 -0.2027 0.1132 Mean Construction -0.0019 0.0439 -0.04 0.965 -0.0880 0.0841 Mean Trade -0.1169 0.0654 -1.79 0.074 -0.2451 0.0112 Mean Transport 0.0825 0.0736 1.12 0.262 -0.0617 0.2267	Job change	-0.0320	0.0094	-3.42	0.001	-0.0504	-0.0137
Superfluous education 0.0424 0.0069 6.13 0.000 0.0289 0.0560 Deficit education -0.0454 0.0096 -4.71 0.000 -0.0642 -0.0265 Mean Part-time employment -0.1556 0.0633 -2.46 0.014 -0.2796 -0.0317 Mean Employment experience -0.0140 0.0018 -7.63 0.000 -0.0176 -0.0104 Mean OLF experience 0.0503 0.0718 0.70 0.484 -0.0904 0.1909 Mean Unemployment experience 0.0202 0.0224 0.90 0.367 -0.0238 0.0642 Mean Job change -0.4328 0.0576 -7.51 0.000 -0.5457 -0.3199 Job features -0.4328 0.0576 -7.51 0.000 -0.5457 -0.3199 Job features -0.04328 0.0576 -7.51 0.000 -0.5457 -0.3199 Job features -0.04328 0.0576 -7.51 0.000 -0.5457 -0.0319 Construction	Re-entry after break	-0.1904	0.1013	-1.88	0.060	-0.3888	0.0081
Deficit education -0.0454 0.0096 -4.71 0.000 -0.0642 -0.0265 Mean Part-time employment -0.1556 0.0633 -2.46 0.014 -0.2796 -0.0317 Mean Employment experience -0.0140 0.0018 -7.63 0.000 -0.0176 -0.0104 Mean OLF experience 0.0503 0.0718 0.70 0.484 -0.0904 0.1909 Mean Unemployment experience 0.0202 0.0224 0.90 0.367 -0.0238 0.0642 Mean Job change -0.4328 0.0576 -7.51 0.000 -0.5457 -0.3199 Job features	Required education	0.0683	0.0067	10.21	0.000	0.0552	0.0814
Mean Part-time employment -0.1556 0.0633 -2.46 0.014 -0.2796 -0.0317 Mean Employment experience -0.0140 0.0018 -7.63 0.000 -0.0176 -0.0104 Mean OLF experience 0.0503 0.0718 0.70 0.484 -0.0904 0.1909 Mean Unemployment experience 0.0202 0.0224 0.90 0.367 -0.0238 0.0642 Mean Job change -0.4328 0.0576 -7.51 0.000 -0.5457 -0.3199 Job features	Superfluous education	0.0424	0.0069	6.13	0.000	0.0289	0.0560
Mean Employment experience -0.0140 0.0018 -7.63 0.000 -0.0176 -0.0104 Mean OLF experience 0.0503 0.0718 0.70 0.484 -0.0904 0.1909 Mean Unemployment experience 0.0202 0.0224 0.90 0.367 -0.0238 0.0642 Mean Job change -0.4328 0.0576 -7.51 0.000 -0.5457 -0.3199 Job features	Deficit education	-0.0454	0.0096	-4.71	0.000	-0.0642	-0.0265
Mean OLF experience 0.0503 0.0718 0.70 0.484 -0.0904 0.1909 Mean Unemployment experience 0.0202 0.0224 0.90 0.367 -0.0238 0.0642 Mean Job change -0.4328 0.0576 -7.51 0.000 -0.5457 -0.3199 Job features Primary sector. energy. mining -0.0187 0.0398 -0.47 0.638 -0.0968 0.0593 Construction 0.0042 0.0168 0.25 0.802 -0.0287 0.0371 Trade -0.0564 0.0267 -2.11 0.035 -0.1087 -0.0040 Transport -0.0976 0.0333 -2.93 0.003 -0.1629 -0.0323 Banking and insurances -0.0792 0.0360 -2.20 0.028 -0.1497 -0.0087 Other services -0.0439 0.0172 -2.54 0.011 -0.0777 -0.0101 Civil servant -0.0241 0.0231 -1.05 0.295 -0.0694 0.0211 <	Mean Part-time employment	-0.1556	0.0633	-2.46	0.014	-0.2796	-0.0317
Mean Unemployment experience 0.0202 0.0224 0.90 0.367 -0.0238 0.0642 Mean Job change -0.4328 0.0576 -7.51 0.000 -0.5457 -0.3199 Job features Primary sector. energy. mining -0.0187 0.0398 -0.47 0.638 -0.0968 0.0593 Construction 0.0042 0.0168 0.25 0.802 -0.0287 0.0371 Trade -0.0564 0.0267 -2.11 0.035 -0.1087 -0.0040 Transport -0.0976 0.0333 -2.93 0.003 -0.1629 -0.0323 Banking and insurances -0.0792 0.0360 -2.20 0.028 -0.1497 -0.0087 Other services -0.0439 0.0172 -2.54 0.011 -0.0777 -0.0101 Civil servant -0.0241 0.0231 -1.05 0.295 -0.0694 0.0211 Public sector -0.0517 0.0156 -3.31 0.001 -0.0824 -0.0211 <td>Mean Employment experience</td> <td>-0.0140</td> <td>0.0018</td> <td>-7.63</td> <td>0.000</td> <td>-0.0176</td> <td>-0.0104</td>	Mean Employment experience	-0.0140	0.0018	-7.63	0.000	-0.0176	-0.0104
Mean Job change -0.4328 0.0576 -7.51 0.000 -0.5457 -0.3199 Job features Primary sector. energy. mining -0.0187 0.0398 -0.47 0.638 -0.0968 0.0593 Construction 0.0042 0.0168 0.25 0.802 -0.0287 0.0371 Trade -0.0564 0.0267 -2.11 0.035 -0.1087 -0.0040 Transport -0.0976 0.0333 -2.93 0.003 -0.1629 -0.0323 Banking and insurances -0.0792 0.0360 -2.20 0.028 -0.1497 -0.0087 Other services -0.0439 0.0172 -2.54 0.011 -0.0777 -0.0101 Civil servant -0.0241 0.0231 -1.05 0.295 -0.0694 0.0211 Public sector -0.0517 0.0156 -3.31 0.001 -0.0824 -0.0211 Medium-size enterprise -0.0130 0.0111 -1.17 0.242 -0.0347 0.0088 Small	Mean OLF experience	0.0503	0.0718	0.70	0.484	-0.0904	0.1909
Job features Primary sector. energy. mining -0.0187 0.0398 -0.47 0.638 -0.0968 0.0593 Construction 0.0042 0.0168 0.25 0.802 -0.0287 0.0371 Trade -0.0564 0.0267 -2.11 0.035 -0.1087 -0.0040 Transport -0.0976 0.0333 -2.93 0.003 -0.1629 -0.0323 Banking and insurances -0.0792 0.0360 -2.20 0.028 -0.1497 -0.0087 Other services -0.0439 0.0172 -2.54 0.011 -0.0777 -0.0101 Civil servant -0.0241 0.0231 -1.05 0.295 -0.0694 0.0211 Public sector -0.0517 0.0156 -3.31 0.001 -0.0824 -0.0211 Medium-size enterprise -0.0130 0.0111 -1.17 0.242 -0.0347 0.0088 Small enterprise -0.0262 0.0116 -2.27 0.023 -0.0488 -0.0036 Mean Primary sector. en	Mean Unemployment experience	0.0202	0.0224	0.90	0.367	-0.0238	0.0642
Primary sector. energy. mining -0.0187 0.0398 -0.47 0.638 -0.0968 0.0593 Construction 0.0042 0.0168 0.25 0.802 -0.0287 0.0371 Trade -0.0564 0.0267 -2.11 0.035 -0.1087 -0.0040 Transport -0.0976 0.0333 -2.93 0.003 -0.1629 -0.0323 Banking and insurances -0.0792 0.0360 -2.20 0.028 -0.1497 -0.0087 Other services -0.0439 0.0172 -2.54 0.011 -0.0777 -0.0101 Civil servant -0.0241 0.0231 -1.05 0.295 -0.0694 0.0211 Public sector -0.0517 0.0156 -3.31 0.001 -0.0824 -0.0211 Medium-size enterprise -0.0130 0.0111 -1.17 0.242 -0.0347 0.0088 Small enterprise -0.0262 0.0116 -2.27 0.023 -0.0488 -0.0036 Mean Primary sector. energy. mining	Mean Job change	-0.4328	0.0576	-7.51	0.000	-0.5457	-0.3199
Construction 0.0042 0.0168 0.25 0.802 -0.0287 0.0371 Trade -0.0564 0.0267 -2.11 0.035 -0.1087 -0.0040 Transport -0.0976 0.0333 -2.93 0.003 -0.1629 -0.0323 Banking and insurances -0.0792 0.0360 -2.20 0.028 -0.1497 -0.0087 Other services -0.0439 0.0172 -2.54 0.011 -0.0777 -0.0101 Civil servant -0.0241 0.0231 -1.05 0.295 -0.0694 0.0211 Public sector -0.0517 0.0156 -3.31 0.001 -0.0824 -0.0211 Medium-size enterprise -0.0130 0.0111 -1.17 0.242 -0.0347 0.0088 Small enterprise -0.0262 0.0116 -2.27 0.023 -0.0488 -0.0036 Mean Primary sector. energy. mining -0.0448 0.0806 -0.56 0.578 -0.2027 0.1132 Mean Construction -0.0169	Job features						
Trade -0.0564 0.0267 -2.11 0.035 -0.1087 -0.0040 Transport -0.0976 0.0333 -2.93 0.003 -0.1629 -0.0323 Banking and insurances -0.0792 0.0360 -2.20 0.028 -0.1497 -0.0087 Other services -0.0439 0.0172 -2.54 0.011 -0.0777 -0.0101 Civil servant -0.0241 0.0231 -1.05 0.295 -0.0694 0.0211 Public sector -0.0517 0.0156 -3.31 0.001 -0.0824 -0.0211 Medium-size enterprise -0.0130 0.0111 -1.17 0.242 -0.0347 0.0088 Small enterprise -0.0262 0.0116 -2.27 0.023 -0.0488 -0.0036 Mean Primary sector. energy. mining -0.0448 0.0806 -0.56 0.578 -0.2027 0.1132 Mean Construction -0.0019 0.0439 -0.04 0.965 -0.0880 0.0841 Mean Trade -0.1169	Primary sector. energy. mining	-0.0187	0.0398	-0.47	0.638	-0.0968	0.0593
Transport -0.0976 0.0333 -2.93 0.003 -0.1629 -0.0323 Banking and insurances -0.0792 0.0360 -2.20 0.028 -0.1497 -0.0087 Other services -0.0439 0.0172 -2.54 0.011 -0.0777 -0.0101 Civil servant -0.0241 0.0231 -1.05 0.295 -0.0694 0.0211 Public sector -0.0517 0.0156 -3.31 0.001 -0.0824 -0.0211 Medium-size enterprise -0.0130 0.0111 -1.17 0.242 -0.0347 0.0088 Small enterprise -0.0262 0.0116 -2.27 0.023 -0.0488 -0.0036 Mean Primary sector. energy. mining -0.0448 0.0806 -0.56 0.578 -0.2027 0.1132 Mean Construction -0.0019 0.0439 -0.04 0.965 -0.0880 0.0841 Mean Trade -0.1169 0.0654 -1.79 0.074 -0.2451 0.0112 Mean Transport 0.082	Construction	0.0042	0.0168	0.25	0.802	-0.0287	0.0371
Banking and insurances -0.0792 0.0360 -2.20 0.028 -0.1497 -0.0087 Other services -0.0439 0.0172 -2.54 0.011 -0.0777 -0.0101 Civil servant -0.0241 0.0231 -1.05 0.295 -0.0694 0.0211 Public sector -0.0517 0.0156 -3.31 0.001 -0.0824 -0.0211 Medium-size enterprise -0.0130 0.0111 -1.17 0.242 -0.0347 0.0088 Small enterprise -0.0262 0.0116 -2.27 0.023 -0.0488 -0.0036 Mean Primary sector. energy. mining -0.0448 0.0806 -0.56 0.578 -0.2027 0.1132 Mean Construction -0.0019 0.0439 -0.04 0.965 -0.0880 0.0841 Mean Trade -0.1169 0.0654 -1.79 0.074 -0.2451 0.0112 Mean Transport 0.0825 0.0736 1.12 0.262 -0.0617 0.2267	Trade	-0.0564	0.0267	-2.11	0.035	-0.1087	-0.0040
Other services -0.0439 0.0172 -2.54 0.011 -0.0777 -0.0101 Civil servant -0.0241 0.0231 -1.05 0.295 -0.0694 0.0211 Public sector -0.0517 0.0156 -3.31 0.001 -0.0824 -0.0211 Medium-size enterprise -0.0130 0.0111 -1.17 0.242 -0.0347 0.0088 Small enterprise -0.0262 0.0116 -2.27 0.023 -0.0488 -0.0036 Mean Primary sector. energy. mining -0.0448 0.0806 -0.56 0.578 -0.2027 0.1132 Mean Construction -0.0019 0.0439 -0.04 0.965 -0.0880 0.0841 Mean Trade -0.1169 0.0654 -1.79 0.074 -0.2451 0.0112 Mean Transport 0.0825 0.0736 1.12 0.262 -0.0617 0.2267	Transport	-0.0976	0.0333	-2.93	0.003	-0.1629	-0.0323
Civil servant -0.0241 0.0231 -1.05 0.295 -0.0694 0.0211 Public sector -0.0517 0.0156 -3.31 0.001 -0.0824 -0.0211 Medium-size enterprise -0.0130 0.0111 -1.17 0.242 -0.0347 0.0088 Small enterprise -0.0262 0.0116 -2.27 0.023 -0.0488 -0.0036 Mean Primary sector. energy. mining -0.0448 0.0806 -0.56 0.578 -0.2027 0.1132 Mean Construction -0.0019 0.0439 -0.04 0.965 -0.0880 0.0841 Mean Trade -0.1169 0.0654 -1.79 0.074 -0.2451 0.0112 Mean Transport 0.0825 0.0736 1.12 0.262 -0.0617 0.2267	Banking and insurances	-0.0792	0.0360	-2.20	0.028	-0.1497	-0.0087
Public sector -0.0517 0.0156 -3.31 0.001 -0.0824 -0.0211 Medium-size enterprise -0.0130 0.0111 -1.17 0.242 -0.0347 0.0088 Small enterprise -0.0262 0.0116 -2.27 0.023 -0.0488 -0.0036 Mean Primary sector. energy. mining -0.0448 0.0806 -0.56 0.578 -0.2027 0.1132 Mean Construction -0.0019 0.0439 -0.04 0.965 -0.0880 0.0841 Mean Trade -0.1169 0.0654 -1.79 0.074 -0.2451 0.0112 Mean Transport 0.0825 0.0736 1.12 0.262 -0.0617 0.2267	Other services	-0.0439	0.0172	-2.54	0.011	-0.0777	-0.0101
Medium-size enterprise -0.0130 0.0111 -1.17 0.242 -0.0347 0.0088 Small enterprise -0.0262 0.0116 -2.27 0.023 -0.0488 -0.0036 Mean Primary sector. energy. mining -0.0448 0.0806 -0.56 0.578 -0.2027 0.1132 Mean Construction -0.0019 0.0439 -0.04 0.965 -0.0880 0.0841 Mean Trade -0.1169 0.0654 -1.79 0.074 -0.2451 0.0112 Mean Transport 0.0825 0.0736 1.12 0.262 -0.0617 0.2267	Civil servant	-0.0241	0.0231	-1.05	0.295	-0.0694	0.0211
Small enterprise -0.0262 0.0116 -2.27 0.023 -0.0488 -0.0036 Mean Primary sector. energy. mining -0.0448 0.0806 -0.56 0.578 -0.2027 0.1132 Mean Construction -0.0019 0.0439 -0.04 0.965 -0.0880 0.0841 Mean Trade -0.1169 0.0654 -1.79 0.074 -0.2451 0.0112 Mean Transport 0.0825 0.0736 1.12 0.262 -0.0617 0.2267	Public sector	-0.0517	0.0156	-3.31	0.001	-0.0824	-0.0211
Mean Primary sector. energy. mining -0.0448 0.0806 -0.56 0.578 -0.2027 0.1132 Mean Construction -0.0019 0.0439 -0.04 0.965 -0.0880 0.0841 Mean Trade -0.1169 0.0654 -1.79 0.074 -0.2451 0.0112 Mean Transport 0.0825 0.0736 1.12 0.262 -0.0617 0.2267	Medium-size enterprise	-0.0130	0.0111	-1.17	0.242	-0.0347	0.0088
mining -0.0448 0.0806 -0.56 0.578 -0.2027 0.1132 Mean Construction -0.0019 0.0439 -0.04 0.965 -0.0880 0.0841 Mean Trade -0.1169 0.0654 -1.79 0.074 -0.2451 0.0112 Mean Transport 0.0825 0.0736 1.12 0.262 -0.0617 0.2267	Small enterprise	-0.0262	0.0116	-2.27	0.023	-0.0488	-0.0036
Mean Trade -0.1169 0.0654 -1.79 0.074 -0.2451 0.0112 Mean Transport 0.0825 0.0736 1.12 0.262 -0.0617 0.2267		-0.0448	0.0806	-0.56	0.578	-0.2027	0.1132
Mean Transport 0.0825 0.0736 1.12 0.262 -0.0617 0.2267	Mean Construction	-0.0019	0.0439	-0.04	0.965	-0.0880	0.0841
	Mean Trade	-0.1169	0.0654	-1.79	0.074	-0.2451	0.0112
Mean Banking and insurances 0.3003 0.0622 4.83 0.000 0.1785 0.4222	Mean Transport	0.0825	0.0736	1.12	0.262	-0.0617	0.2267
	Mean Banking and insurances	0.3003	0.0622	4.83	0.000	0.1785	0.4222

Log(hourly wage rate)	Coefficient	Std. Err.	z	P>z	[95% Conf. I	nterval]
Mean Other services	0.0532	0.0392	1.36	0.174	-0.0235	0.1300
Mean Public sector	-0.0771	0.0343	-2.25	0.025	-0.1444	-0.0099
Mean Medium-size enterprise	0.0195	0.0337	0.58	0.562	-0.0465	0.0855
Mean Small enterprise	-0.1141	0.0287	-3.98	0.000	-0.1703	-0.0579
Partner- and household context						
Married	-0.0443	0.0373	-1.19	0.236	-0.1175	0.0289
Cohabiting	-0.0957	0.0376	-2.55	0.011	-0.1693	-0.0221
Partner's gross wage income	0.0000	0.0000	4.29	0.000	0.0000	0.0000
Partner is highly educated	0.0529	0.0358	1.48	0.140	-0.0173	0.1230
Partner is medium educated	0.0339	0.0335	1.01	0.311	-0.0317	0.0995
Nonwage income of the house- hold	0.0000	0.0000	6.05	0.000	0.0000	0.0000
Parenthood	0.0636	0.0225	2.83	0.005	0.0196	0.1077
Child aged 6 or younger	0.0267	0.0123	2.18	0.030	0.0027	0.0507
Household size	0.0182	0.0050	3.61	0.000	0.0083	0.0281
Daily leisure time budget	0.0089	0.0024	3.66	0.000	0.0041	0.0136
Residence in East Germany	-0.1826	0.0268	-6.81	0.000	-0.2352	-0.1301
Residence in West Germany	0.0648	0.0257	2.52	0.012	0.0144	0.1151
Residence in South Germany	0.0917	0.0249	3.68	0.000	0.0428	0.1405
Mean Married	0.1495	0.0434	3.44	0.001	0.0644	0.2347
Mean Cohabiting	0.1047	0.0492	2.13	0.033	0.0082	0.2011
Mean Partner's gross wage income	0.0000	0.0000	-2.59	0.010	0.0000	0.0000
Mean Nonwage income of the household	0.0000	0.0000	1.25	0.211	0.0000	0.0000
Mean Parenthood	0.0305	0.0387	0.79	0.431	-0.0453	0.1063
Mean Child aged 6 or younger	-0.0350	0.0395	-0.88	0.376	-0.1125	0.0425
Mean Household size	-0.0110	0.0121	-0.91	0.362	-0.0348	0.0127
Mean Daily leisure time budget	-0.0241	0.0080	-3.01	0.003	-0.0398	-0.0084
Parents' home characteristics						
Mother is highly educated	-0.0760	0.0326	-2.33	0.020	-0.1400	-0.0120
Father is highly educated	0.0232	0.0233	1.00	0.318	-0.0224	0.0688
Mother employed	0.0336	0.0216	1.56	0.120	-0.0087	0.0759
Father employed	0.0168	0.0350	0.48	0.631	-0.0517	0.0854
Nationality/migration background	1					
Indirect migration background	-0.0425	0.0567	-0.75	0.454	-0.1536	0.0686
Direct migration background	-0.0248	0.0453	-0.55	0.585	-0.1136	0.0641

Sources: SOEP 1984-2010, calculations HWWI.

Earnings estimation results, female graduates

 Number of observations
 =
 9485

 Number of persons
 =

 1571
 R-sq: within
 =
 0,1288

 Between
 =
 0,4244

 Overall
 =
 0,3905

 Observations per Person.:
 min
 =
 1

avg = 6,0 max = 24

Wald chi2(62) = 2349,24 Prob > chi2 = 0,0000

				Prob >	chi2 =	0,0000
Log(hourly wage rate)	Koeffizient	Std. Err.	z	P>z	[95% Conf. I	nterval]
Employment biography						
Part-time employment	0.2130	0.0118	18.07	0.000	0.1899	0.2361
Precarious/irregular employment	0.5178	0.0302	17.14	0.000	0.4586	0.5770
Employment experience	0.0163	0.0010	16.49	0.000	0.0144	0.0182
OLF experience	-0.0297	0.0088	-3.37	0.001	-0.0469	-0.0124
Unemployment experience	-0.0744	0.0116	-6.41	0.000	-0.0972	-0.0516
Job change	-0.0261	0.0104	-2.50	0.012	-0.0466	-0.0057
Re-entry after break	0.0142	0.0225	0.63	0.528	-0.0299	0.0582
Required education	0.0807	0.0057	14.20	0.000	0.0695	0.0918
Superfluous education	0.0474	0.0059	8.08	0.000	0.0359	0.0589
Deficit education	-0.0715	0.0093	-7.73	0.000	-0.0897	-0.0534
Mean Part-time employment	0.0065	0.0390	0.17	0.867	-0.0698	0.0829
Mean Precarious/irregular employment	-0.5283	0.0885	-5.97	0.000	-0.7019	-0.3548
Mean Employment experience	-0.0058	0.0018	-3.15	0.002	-0.0094	-0.0022
Mean OLF experience	0.0224	0.0092	2.45	0.014	0.0045	0.0404
Mean Unemployment experience	0.0125	0.0150	0.83	0.404	-0.0169	0.0419
Mittelwert Jobwechsel	-0.1979	0.0455	-4.35	0.000	-0.2871	-0.1087
Job features						
Primary sector. energy. mining	-0.1902	0.0507	-3.75	0.000	-0.2895	-0.0909
Construction	0.0162	0.0339	0.48	0.632	-0.0503	0.0827
Trade	-0.0799	0.0310	-2.58	0.010	-0.1407	-0.0192
Transport	-0.0433	0.0433	-1.00	0.318	-0.1281	0.0416
Banking and insurances	-0.0969	0.0531	-1.82	0.068	-0.2009	0.0072
Other services	-0.0421	0.0254	-1.66	0.096	-0.0918	0.0076
Civil servant	-0.0102	0.0217	-0.47	0.638	-0.0528	0.0323
Public sector	0.0284	0.0143	1.98	0.047	0.0003	0.0565
Medium-size enterprise	0.0034	0.0142	0.24	0.808	-0.0243	0.0312
Small enterprise	-0.0492	0.0127	-3.88	0.000	-0.0741	-0.0243
Mean Primary sector. energy. mining	0.1564	0.1001	1.56	0.118	-0.0397	0.3526
Mean Construction	0.1392	0.0728	1.91	0.056	-0.0035	0.2818
Mean Trade	-0.1192	0.0649	-1.84	0.066	-0.2465	0.0080

Log(hourly wage rate)	Koeffizient	Std. Err.	z	P>z	[95% Conf. I	nterval]
Mean Transport	0.1417	0.0870	1.63	0.103	-0.0288	0.3122
Mean Banking and insurances	0.3045	0.0835	3.65	0.000	0.1408	0.4682
Mean Other services	0.0674	0.0501	1.35	0.178	-0.0307	0.1655
Mean Public sector	0.0325	0.0298	1.09	0.275	-0.0259	0.0909
Mean Medium-size enterprise	0.0241	0.0371	0.65	0.515	-0.0485	0.0968
Mean Small enterprise	-0.0247	0.0292	-0.85	0.397	-0.0820	0.0325
Partner- and household context						
Married	-0.0123	0.0387	-0.32	0.750	-0.0881	0.0635
Cohabiting	-0.0291	0.0387	-0.75	0.452	-0.1050	0.0468
Partner's gross wage income	0.0000	0.0000	3.09	0.002	0.0000	0.0000
Partner is highly educated	0.0200	0.0372	0.54	0.591	-0.0530	0.0930
Partner is medium educated	0.0138	0.0346	0.40	0.691	-0.0540	0.0816
Nonwage income of the house-hold	0.0000	0.0000	-0.45	0.649	0.0000	0.0000
Parenthood	0.1195	0.0292	4.09	0.000	0.0622	0.1768
Child aged 6 or younger	-0.0372	0.0151	-2.47	0.013	-0.0667	-0.0077
Household size	0.0079	0.0066	1.20	0.229	-0.0050	0.0208
Daily leisure time budget	-0.0098	0.0025	-3.91	0.000	-0.0147	-0.0049
Residence in East Germany	-0.1934	0.0308	-6.29	0.000	-0.2537	-0.1331
Residence in West Germany	0.0291	0.0297	0.98	0.327	-0.0291	0.0873
Residence in South Germany	0.0657	0.0295	2.23	0.026	0.0079	0.1235
Mean Married	-0.0468	0.0374	-1.25	0.211	-0.1202	0.0265
Mean Cohabiting	-0.0260	0.0431	-0.60	0.546	-0.1104	0.0585
Mean Partner's gross wage income	0.0000	0.0000	-0.37	0.714	0.0000	0.0000
Mean Nonwage income of the household	0.0001	0.0000	3.33	0.001	0.0000	0.0001
Mean Parenthood	-0.0841	0.0447	-1.88	0.060	-0.1718	0.0036
Mean Child aged 6 or younger	0.1116	0.0426	2.62	0.009	0.0281	0.1951
Mean Household size	0.0019	0.0136	0.14	0.891	-0.0248	0.0285
Mean Daily leisure time budget	-0.0350	0.0080	-4.36	0.000	-0.0507	-0.0192
Parents' home characteristics						
Mother is highly educated	-0.0137	0.0282	-0.49	0.627	-0.0690	0.0416
Father is highly educated	0.0290	0.0217	1.34	0.182	-0.0136	0.0717
Mother employed	0.0125	0.0208	0.60	0.549	-0.0283	0.0532
Father employed	0.0547	0.0352	1.56	0.120	-0.0142	0.1237
Nationality/migration background	d					
Indirect migration background	-0.0090	0.0571	-0.16	0.875	-0.1210	0.1030
Direct migration background	-0.0356	0.0400	-0.89	0.374	-0.1140	0.0428
constant	1.6480	0.1264	13.04	0.000	1.4003	1.8957

Sources: SOEP 1984-2010, calculations HWWI.

ANNEX – Table 5:

Decomposition of the mean Gender Pay Gap among German graduates

(reference grou	p: male	graduates)
-----------------	---------	------------

Blinder-Oaxaca decomposition	Number of obs	=	2377			
Simusi Gazaga accomposition	Model	=	linear			
Group 1 (female graduates): hq = 0	N of obs 1	=	1160			
Group 2 (male graduates): hq = 1	N of obs 2	=	1217			
G. C.						
log_wage_h	Coef.	Std. Err.	Z	P>z	[95% Conf.	Interval]
Overall						
Log hourly wage rate of female graduates	2.8395	0.0151	188.51	0.000	2.8099	2.8690
Log hourly wage rate of male graduates	3.1644	0.0155	204.80	0.000	3.1342	3.1947
Difference in Log- hourly wage rates	-0.3250	0.0216	-15.06	0.000	-0.3673	-0.2827
- thereof endowment effect	-0.2053	0.0300	-6.85	0.000	-0.2641	-0.1466
- thereof evaluation effect (price effect) (including the constant term)	-0.1197	0.0301	-3.98	0.000	-0.1786	-0.0607
Composition of the endowment effect						
Employment biography						
Part-time employment	0.0114	0.0166	0.69	0.493	-0.0212	0.0439
Employment experience	-0.0157	0.0069	-2.27	0.023	-0.0294	-0.0021
OLF experience	0.0202	0.0099	2.05	0.041	0.0009	0.0395
Unemployment experience	-0.0281	0.0082	-3.42	0.001	-0.0442	-0.0120
Job change	-0.0013	0.0015	-0.87	0.382	-0.0041	0.0016
Re-entry after break						
Required education	-0.0418	0.0094	-4.43	0.000	-0.0604	-0.0233
Superfluous education	0.0018	0.0023	0.80	0.421	-0.0026	0.0063
Deficit education	0.0008	0.0009	0.91	0.360	-0.0009	0.0026
Job features						
Primary sector. energy. mining	0.0021	0.0014	1.53	0.125	-0.0006	0.0048
Construction	0.0009	0.0041	0.21	0.832	-0.0072	0.0089
Trade	-0.0023	0.0018	-1.31	0.190	-0.0058	0.0012
Transport	0.0008	0.0010	0.87	0.382	-0.0010	0.0027
Banking and insurances	-0.0013	0.0016	-0.82	0.414	-0.0044	0.0018
Other services	-0.0212	0.0089	-2.39	0.017	-0.0385	-0.0038
Civil servant	-0.0051	0.0024	-2.14	0.033	-0.0098	-0.0004
Public sector	-0.0207	0.0070	-2.94	0.003	-0.0345	-0.0069
Medium-size enterprise	0.0013	0.0013	1.03	0.302	-0.0012	0.0039
Small enterprise	-0.0182	0.0047	-3.86	0.000	-0.0274	-0.0089
Partner- and household context						
Married	-0.0178	0.0077	-2.30	0.022	-0.0329	-0.0026
Cohabiting	0.0013	0.0018	0.73	0.466	-0.0023	0.0050

log_wage_h	Coef.	Std. Err.	z	P>z	[95% Conf.	Interval]
Partner's gross wage income	-0.0187	0.0129	-1.45	0.147	-0.0440	0.0066
Partner is highly educated	-0.0003	0.0009	-0.31	0.756	-0.0021	0.0015
Partner is medium educated	0.0039	0.0056	0.70	0.482	-0.0070	0.0148
Nonwage income of the household	-0.0038	0.0043	-0.88	0.376	-0.0123	0.0046
Parenthood	0.0001	0.0005	0.12	0.908	-0.0009	0.0010
Child aged 6 or younger	-0.0060	0.0033	-1.83	0.068	-0.0124	0.0004
Household size	-0.0017	0.0037	-0.45	0.655	-0.0089	0.0056
Daily leisure time budget	-0.0035	0.0136	-0.26	0.797	-0.0301	0.0231
Residence in East Germany	-0.0304	0.0071	-4.28	0.000	-0.0443	-0.0165
Residence in West Germany	-0.0005	0.0009	-0.59	0.556	-0.0022	0.0012
Residence in South Germany	-0.0093	0.0043	-2.17	0.030	-0.0178	-0.0009
Parents' home characteristics						
Mother is highly educated	-0.0007	0.0009	-0.73	0.468	-0.0024	0.0011
Father is highly educated	-0.0003	0.0007	-0.44	0.663	-0.0017	0.0011
Mother employed	0.0001	0.0004	0.36	0.716	-0.0006	0.0009
Father employed	-0.0005	0.0008	-0.71	0.480	-0.0020	0.0009
Nationality/migration background						
Indirect migration background	0.0002	0.0006	0.35	0.725	-0.0010	0.0014
Direct migration background	-0.0012	0.0012	-0.95	0.341	-0.0036	0.0013
Composition of the evaluation effect (price effect)						
Employment biography						
Part-time employment	0.0389	0.0226	1.72	0.085	-0.0054	0.0832
Employment experience	-0.0729	0.0478	-1.53	0.127	-0.1665	0.0208
OLF experience	-0.0322	0.0140	-2.30	0.021	-0.0596	-0.0048
Unemployment experience	0.0190	0.0138	1.38	0.168	-0.0080	0.0461
Job change	0.0033	0.0082	0.40	0.687	-0.0128	0.0194
Required education	-0.0793	0.2014	-0.39	0.694	-0.4741	0.3155
Superfluous education	-0.0062	0.0273	-0.23	0.821	-0.0597	0.0474
Deficit education	-0.0074	0.0045	-1.63	0.103	-0.0163	0.0015
Job features						
Primary sector. energy. mining	0.0036	0.0022	1.62	0.105	-0.0008	0.0080
Construction	0.0080	0.0036	2.22	0.027	0.0009	0.0151
Trade	0.0031	0.0050	0.62	0.536	-0.0067	0.0130
Transport	0.0052	0.0031	1.68	0.094	-0.0009	0.0112
Banking and insurances	0.0061	0.0033	1.82	0.069	-0.0005	0.0126
Other services	0.0429	0.0514	0.83	0.404	-0.0579	0.1437
Civil servant	0.0003	0.0092	0.03	0.976	-0.0178	0.0184
Public sector	0.0710	0.0239	2.97	0.003	0.0242	0.1178
Medium-size enterprise	0.0033	0.0095	0.35	0.728	-0.0153	0.0219
Small enterprise	0.0178	0.0238	0.75	0.454	-0.0288	0.0643
Partner- and household context						

log_wage_h	Coef.	Std. Err.	z	P>z	[95% Conf.	Interval]
Married	-0.1130	0.0600	-1.88	0.060	-0.2306	0.0046
Cohabiting	-0.0120	0.0154	-0.78	0.436	-0.0422	0.0182
Partner's gross wage income	0.0361	0.0298	1.21	0.227	-0.0224	0.0945
Partner is highly educated	0.0262	0.0415	0.63	0.528	-0.0552	0.1077
Partner is highly educated	0.0000	0.0232	0.00	1.000	-0.0455	0.0455
Nonwage income of the household	-0.0283	0.0104	-2.73	0.006	-0.0486	-0.0080
Parenthood	0.0153	0.0391	0.39	0.696	-0.0613	0.0919
Child aged 6 or younger	-0.0013	0.0086	-0.15	0.880	-0.0182	0.0156
Household size	0.0474	0.0555	0.85	0.393	-0.0613	0.1561
Daily leisure time budget	-0.3299	0.0839	-3.93	0.000	-0.4943	-0.1655
Residence in East Germany	0.0287	0.0224	1.28	0.199	-0.0151	0.0726
Residence in West Germany	0.0072	0.0135	0.54	0.592	-0.0192	0.0336
Residence in South Germany	0.0041	0.0154	0.27	0.789	-0.0261	0.0344
Parents' home characteristics						
Mother is highly educated	-0.0086	0.0090	-0.97	0.334	-0.0262	0.0089
Father is highly educated	0.0143	0.0133	1.07	0.283	-0.0118	0.0405
Mother employed	-0.0229	0.0135	-1.70	0.089	-0.0493	0.0035
Father employed	-0.0369	0.0544	-0.68	0.497	-0.1435	0.0697
Nationality/migration background						
Indirect migration background	0.0044	0.0032	1.39	0.166	-0.0018	0.0106
Direct migration background	-0.0029	0.0051	-0.57	0.569	-0.0130	0.0072
constant	0.2279	0.2612	0.87	0.383	-0.2841	0.7398

Sources: SOEP 1984-2010, calculations HWWI.

HWWI Research Papers

since 2011

137 Protection against major catastrophes: an economic perspective

Lars Wenzel, André Wolf, January 2013

136 The political economy of trade and migration: Evidence from the U.S. Congress Paola Conconi, Giovanni Facchini, Max Friedrich Steinhardt, Maurizio Zanardi, December 2012

135 Political Determinants of Budget Deficit in Pakistan: An Empirical Investigation Mumtaz Anwar, November 2012

134 The Impact of Distance in Seaborne Trade: An Analysis of Bilateral Container Transport Flows

Franziska Biermann, November 2012

133 Forecasting Regional Growth in Germany: A panel approach using Business Survey Data

Lars Wenzel, October 2012

132 Public Sector Employment and Fertility in Germany

Nora Reich, September 2012

131 The effect of market access on the labor market: Evidence from German reunification

Ulrich Zierahn, September 2012

130 Monocentric Cities, Endogenous Agglomeration, and Unemployment Disparities

Ulrich Zierahn, September 2012

129 Impact of Benefit Sanctions on Unemployment Outflow – Evidence from German Survey Data

Katja Hillmann, Ingrid Hohenleitner, September 2012

128 Who leaves and when? Selective outmigration of immigrants from Germany Torben Kuhlenkasper, Max Friedrich Steinhardt, June 2012

127 Inter-industrial relations and sectoral employment development in German regions

Julia Kowalewski, June 2012

126 Regionalization of national input-output tables: empirical evidence on the use of the FLQ formula

Julia Kowalewski, June 2012

125 Does Dual Citizenship Increase Naturalization? Evidence from Indian Immigrants in the U.S.

Daniel Naujoks, May 2012

124 The Estimation of Reservation Wages: A Simulation-Based Comparison Julian S. Leppin, April 2012

123 Trade and Economic Growth: A Re-examination of the Empirical Evidence Matthias Busse, Jens Königer, April 2012

122 Immigration and Election Outcomes – Evidence from City Districts in Hamburg Alkis Henri Otto, Max Friedrich Steinhardt, April 2012

121 Renewables in the energy transition – Evidence on solar home systems and lighting fuel choice in Kenya

Jann Lay, Janosch Ondraczek, Jana Stöver, April 2012

119 Creative professionals and high-skilled agents: Polarization of employment growth?

Jan Wedemeier, March 2012

118 Unraveling the complexity of U.S. presidential approval. A multi-dimensional semi-parametric approach

Michael Berlemann, Soeren Enkelmann, Torben Kuhlenkasper, February 2012

117 Policy Options for Climate Policy in the Residential Building Sector: The Case of Germany

Sebastian Schröer, February 2012

116 Fathers' Childcare: the Difference between Participation and Amount of Time Nora Reich, February 2012

115 Fathers' Childcare and Parental Leave Policies – Evidence from Western European Countries and Canada

Nora Reich, Christina Boll, Julian Leppin, Hamburg, February 2012

114 What Drives FDI from Non-traditional Sources? A Comparative Analysis of the Determinants of Bilateral FDI Flows

Maximiliano Sosa Andrés, Peter Nunnenkamp, Matthias Busse, Hamburg, January 2012

113 On the predictive content of nonlinear transformations of lagged autoregression residuals and time series observations

Anja Rossen, Hamburg, October 2011

112 Regional labor demand and national labor market institutions in the EU15 Helmut Herwartz, Annekatrin Niebuhr, Hamburg, October 2011

111 Unemployment Duration in Germany – A comprehensive study with dynamic hazard models and P-Splines

Torben Kuhlenkasper, Max Friedrich Steinhardt, Hamburg, September 2011

110 Age, Life-satisfaction, and Relative Income

Felix FitzRoy, Michael Nolan, Max Friedrich Steinhardt, Hamburg, July 2011

109 The conjoint quest for a liberal positive program: "Old Chicago", Freiburg and Hayek

Ekkehard Köhler, Stefan Kolev, Hamburg, July 2011

108 Agglomeration, Congestion, and Regional Unemployment Disparities Ulrich Zierahn, Hamburg, July 2011

107 Efficient Redistribution: Comparing Basic Income with Unemployment Benefit Felix FitzRoy, Jim Jin, Hamburg, March 2011

106 The Resource Curse Revisited: Governance and Natural Resources Matthias Busse, Steffen Gröning, Hamburg, March 2011

105 Regional Unemployment and New Economic Geography

Ulrich Zierahn, Hamburg, March 2011

104 The Taxation-Growth-Nexus Revisited

K. P. Arin, M. Berlemann, F. Koray, T. Kuhlenkasper, Hamburg, January 2011

The Hamburg Institute of International Economics (HWWI) is an independent economic research institute, based on a non-profit public-private partnership, which was founded in 2005. The University of Hamburg and the Hamburg Chamber of Commerce are shareholders in the Institute.

The HWWI's main goals are to:

- Promote economic sciences in research and teaching;
- Conduct high-quality economic research;
- Transfer and disseminate economic knowledge to policy makers, stakeholders and the general public.

The HWWI carries out interdisciplinary research activities in the context of the following research areas:

- Economic Trends and Global Markets,
- Regional Economics and Urban Development,
- Sectoral Change: Maritime Industries and Aerospace,
- Institutions and Institutional Change,
- Energy and Raw Material Markets,
- Environment and Climate,
- Demography, Migration and Integration,
- · Labour and Family Economics,
- Health and Sports Economics,
- Family Owned Business, and
- Real Estate and Asset Markets.

Hamburg Institute of International Economics (HWWI)

Heimhuder Str. 71 | 20148 Hamburg | Germany Phone: +49 (0)40 34 05 76 - 0 | Fax: +49 (0)40 34 05 76 - 776 info@hwwi.org | www.hwwi.org